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TNPSC GROUP I, II & IIA PRELIM 

CLEAR, TRANSPARENT, INDIVIDUALIZE ORIENTATION 

MENTAL ABILITY – COURSE CONTENT 
 

GROUP I & II / IIA = 25 QUESTIONS 

 
UNIT-X: APTITUDE AND MENTAL ABILITY 

i. Simplification – Percentage - Highest Common Factor (HCF) - 
Lowest Common Multiple (LCM).  
 

ii. Ratio and Proportion. 
 

iii. Simple interest - Compound interest - Area - Volume – Time and 
Work. 

 
iv. Logical Reasoning - Puzzles - Dice - Visual Reasoning – Alpha 

numeric Reasoning – Number Series. 
 
myF X – jpwdwpTk; kdf;fzf;F Ez;zwpTk;  

i. RUf;Fjy; kPg;ngW nghJf; fhuzp (HCF) – tpOf;fhL – kPr;rpW 
nghJ klq;F (LCM) 
 

ii. tpfpjk; kw;Wk; tpfpjhrhuk; 
 

iii. jdptl;b> $l;Ltl;b – gug;G – nfhs;ssT – fhyk; kw;Wk; Ntiy 
 

iv. jUf;ff; fhuztpay; - Gjph;fs; - gfil – fhl;rpf; fhuztpay; - 
vz; vOj;Jf; fhuztpay; - vz; thpir 
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TNPSC ORIGINAL QUESTION  
TNPSC GROUP I PRELIMINARY EXAM 

03.01.2021 
 

1. Find the value of k if 
13 + 23 + ......... + k3 = 44100 
a. 20  b. 21  c. 22  d. 23  e. Answer not known  
d; kjpg;G fhz;f.  
13 + 23 + ......... + k3 = 44100 
a. 20  b. 21  c. 22  d. 23   e. tpil njhpatpy;iy  

 
2. If A = 265 and B = 264 + 263 + 262 + 20 Which of the following is true?  

a. B is larger than A by 1  b. A is larger than B by 1 

c. A and B are equal    d. B is 264 more than A 
e. Answer not known  
A = 265 kw;Wk; B = 264 + 263 + 262 + 20 vdf; nfhLf;fg;gl;Ls;sJ vdpy; 
gpd;tUtdtw;wpy; vJ cz;ik?  
a. B MdJ A I tpl 1 mjpfk; b. A MdJ B I tpl 1 mjpfk;  
c. A kw;Wk; B rkk;    d. B MdJ A I tpl 264 mjpfk;  
e. tpil njhpatpy;iy  

 
3. Find the missing number:  

3, 12, 27, 48, 75, 108, __________ 
a. 147  b. 162  c. 183  d. 192   e. Answer not known  
tpLgl;l vz;izf; fhz;f:  
3, 12, 27, 48, 75, 108, __________ 
a. 147  b. 162  c. 183  d. 192   e. tpil njhpatpy;iy  

 
4. In the given number pattern find the next term. 

21 321 4321
, , ,

33 444 5555
__________ 

a. 7531

6666
 b. 1234

5555
  c. 4321

2222
 d. 

54321

66666
 e. Answer not known  

vd;w mikg;gpy; mLj;j vz;izf; fhz;f.  
21 321 4321

, , ,
33 444 5555

__________ 

a. 7531

6666
 b. 1234

5555
  c. 4321

2222
 d. 54321

66666
  e. tpil njhpatpy;iy  
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5. If 'HUMBLE" is given by the code EHLUBM. What does the code 

EDUCATION mean?  
a. NEDOIUTCA  b. NEOIDUTCA  c. NEDUOITCA  
d. NEODIUTCA  e. Answer not known  
HUMBLE vd;gij EHLUBM vDk; FwpaPl;lhy; jug;gbd; 
EDUCATION vDk; FwpaPL vjidf; Fwpf;Fk;?  
a. NEDOIUTCA  b. NEOIDUTCA  c. NEDUOITCA  
d. NEODIUTCA   e. tpil njhpatpy;iy  

 
6. What is the probability of getting and even number when a die is 

thrown? 

a. 1

6
  b. 2

3
   c. 

1

2
  d. 5

6
 e. Answer not known  

xU gfilia cUl;Lk;nghOJ XH; ,ul;ilg;gil vz; 
fpilg;gjw;fhd epof;jfT ahJ?  

a. 1

6
  b. 2

3
   c. 1

2
  d. 5

6
e. tpil njhpatpy;iy  

 
7. The present ages of Arun and Suresh are 24 years and 36 years 

respectively. What was the ratio between the ages of Suresh and 
Arun, 8 years ago?  
a. 4 : 7 b. 6 : 5 c. 7 : 4 d. 3 : 2 e. Answer not known  
mUz; kw;Wk; RNu~; jw;Nghija taJfs; KiwNa 24 tUlq;fs; 
kw;Wk; 36 tUlq;fs; vdpy; 8 Mz;LfSf;F Kd;G RNu~; kw;Wk; 
mUz; taJfspd; tpfpjk; vd;dthf ,Ue;jpUf;Fk;?  
a. 4 : 7 b. 6 : 5 c. 7 : 4 d. 3 : 2 e. tpil njhpatpy;iy  

 
8. A and B together can do a piece of work in 16 days and A alone can 

do it in 48 days. How long will  B alone take to complete the work?  
a. 18 days   b. 24 days     c. 28 days   
d. 30 days   e. Answer not known  
A kw;Wk; B Mfpa ,UtUk; ,ize;J xU Ntiyia 16 ehl;fspy; 
Kbg;gh;. A jdpNa me;j Ntiyia 48 ehl;fspy; Kbg;ghh;. vdpy;> B 
jdpNa me;J Ntiyia vj;id ehl;fspy; Kbg;ghh;?  
a. 18 ehl;fs;   b. 24 ehl;fs;   c. 28 ehl;fs;  
d. 30 ehl;fs;   e. tpil njhpatpy;iy  

 
9. 210 men working 12 hours a day can finish a job in 18 days. How 

many men are required to finish the job in 20 days working 14 hours 
a day?  



  

4 P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 
 

a. 156 men    b. 162 men   c. 168 men   
d. 172 men    e. Answer not known  
210 Mz;fs; ehnshd;Wf;F 12 kzp Neuk; Ntiy nra;J xU 
Ntiyia 18 ehl;fspy; Kbg;gh;. mNj Ntiyia ehnshd;Wf;F 14 
kzp Neuk; Ntiy nra;J 20 ehl;fspy; Kbf;f vj;jid Mz;fs; 
Njit?  
a. 156 Mz;Lfs;  b. 162 Mz;fs;   c. 168 Mz;Lfs;  
d. 172 Mz;fs;   e. tpil njhpatpy;iy  

 
10. If 5 persons complete 5 projects in 5 days then 50 persons complete 

50 projects in _________ days.  
a. 5 days   b. 10 days   c. 50 days   d. 55 days  
e. Answer not known  
5 egh;fs; 5 Ntiyia 5 ehl;fspy; nra;J Kbg;gh;. vdpy;> 50 egh;fs; 
50 Ntiyfis _______ ehl;fspy; nra;J Kbg;gh;.  
a. 5 ehl;fs;   b. 10 ehl;fs;   c. 50 ehl;fs;  
d. 55 ehl;fs;   e. tpil njhpatpy;iy  

 
11. A mason uses the expression 2x3 + 16 to represent the area of the 

rectangular floor of a room. If the decides that the length of the room 
will be represented by 2(x+2) then what will the width of the room be 
represented in terms of x?  
a. 2 (x – 2)    b. (x2 – 4)    c. (x2 – 2x + 4)  

d. (x2 + 2x - 4)   e. Answer not known  
fl;bl Ntiyahs; xUth; miwapd; nrt;tf tbt jiuapd; gug;gsT 
2x3 + 16 vdj; jPh;khdpj;Jf; nfhz;lhh;. mjd; ePsk; 2(x+2)  vdf; 
Fwpf;fg;gl;lhy; mfykhdJ x – d; rhh;ghf gpd;tUtdtw;Ws; vJ?  
a. 2 (x – 2)    b. (x2 – 4)    c. (x2 – 2x + 4)  
d. (x2 + 2x - 4)   e. tpil njhpatpy;iy  

 
12. The volume of a solid hemisphere is 29106 cm3. Another hemisphere 

whose volume is two-third of the above is carved out. Find the 
radius of the new hemisphere.  
a. 21.5 cm   b. 12 cm    c. 21 cm  
d. 23 cm    e. Answer not known  
xU jpz;k miuf;Nfhsj;jpd; fd msT 29106 f.nrkP %d;wpy; ,uz;L 
gq;F fd msTs;s kw;Nwhh; miuf;Nfhsk; ,jpypUe;J 
nfJf;fg;gLkhdhy; Gjpa miuNfhsj;jpd; Muk; vd;d?  
a. 21.5 nr.kP  b. 12 nr.kP   c. 21 nr.kP  
d. 23 nr.kP   e. tpil njhpatpy;iy  
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13. The difference between simple and compound interest on a certain 
sum of money for 2 years at 2% per annum is ì4. Find the sum of 
money. 
a. ì 2,000  b. ì 7,500    c. ì 10,000  
d. ì 12,000  e. Answer not known  
2% Mz;L tl;bapy; 2 Mz;Lf;F Xh; mrYf;Ff; fpilj; $l;L 
tl;bf;Fk; jdp tl;bf;Fk; ,ilNaAs;s tpj;jpahrk; ì4 vdpy; 
mtw;wpd; mry; vd;d?  
a. ì 2,000 b. ì 7,500 c. ì 10,000 d. ì 12,000 e. tpil njhpatpy;iy  

 
14.  The difference between the compound interest and simple interest 

accrued on an amount of ì18,000 in two years is ì 405. Then the rate of 
interest per annum is  
a. 12% b. 15%  c. 18% d. 10%  e. Answer not known  
,U tUlq;fspy; ì18,000 kPjhd $l;L tl;b> jdptl;b Mfpatw;wpd; 
tpj;jpahrk; ì405 vdpy; tUltl;b tPjk;  
a. 12% b. 15%  c. 18% d. 10% e. tpil njhpatpy;iy  

 
15. Find the rate of interest if the difference between C.I and S.I on ì 8,000 

compounded annually for 2 years is ì 20.  
a. 5%  b. 10% c. 15% d. 20% e. Answer not known  
ì8,000 f;F ,uz;L Mz;LfSf;F fpilf;Fk; $l;L tl;bf;Fk;> jdp 
tl;bf;Fk; ,ilNa cs;s tpj;jpahrk; ì20 vdpy; tl;b tPjk; fhz;f.  
a. 5%  b. 10% c. 15% d. 20%  e. tpil njhpatpy;iy  

 
16. Find the principal on amount ì 11,800 at 6% per annum for 3 years 

being simple interest annually. 
a. ì 8,000   b. ì 9,000   c. ì 10,000  
d. ì 9,500    e. Answer not known 
%d;whz;Lfspy; 6% jdptl;b tPjk; nkhj;j njhif ì11,800 mspf;Fk; 
mriyf; fhz;f.  
a. ì 8,000   b. ì 9,000    c. ì 10,000  
d. ì 9,500    e. tpil njhpatpy;iy  

 
17. The value of a machine depreciates at 10% per year. If the present 

value is ì 1,62,000. What is the worth of the machine after two years?  
a. ì 1,29,600   b. ì 1,30,600    c. ì 1,31,600  
d. ì 1,31,220   e. Answer not known 
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xU ,ae;jpuj;jdp; jw;Nghija kjpg;G ì 1,62,000. xt;nthU Mz;Lf;Fk; 
,ae;jpuj;jpd; kjpg;G 10% FiwfpwJ. vdpy;> ,uz;L Mz;Lfs; fopj;J 
,t;tpae;jpuj;jpd; kjpg;G vd;d?  
a. ì 1,29,600   b. ì 1,30,600    c. ì 1,31,600  
d. ì 1,31,220   e. tpil njhpatpy;iy  

 
18. A sum of ì 48,000 was lentout at simple interest and at the end of 2 

years and 3 months the total amount was ì 55,560. Find the rate of 
interest per year. 
a. 7%  b. 8%  c. 9%  d. 10%  e. Answer not known 
fldhf toq;fg;gl;l mry; ì 48>000 f;F 2 Mz;Lfs; 3 khjf; 
fhyj;jpw;Fg; gpd; jdptl;b %yk; ngwg;gl;l nkhj;jf; njhif ì 55>560 
Mf ,Ue;jJ vdpy; tl;b tPjj;ijf; fhz;f.  
a. 7%  b. 8%  c. 9%  d. 10%  e. tpil njhpatpy;iy  

 
19. Raghul wanted to find the height of a tree in his garden. He checked 

the ratio of his height to his shadow length. It was 4 : 1. He then 
measured the shadow of the tree. It was 15 feet. What was the height 
of the tree?  
a. 15 feet    b. 30 feet     c. 60 feet   
d. 75 feet    e. Answer not known 
,uhFy; jdJ Njhl;lj;jpy; cs;s xU kuj;jpd; cauj;ij mwpa 
tpUk;gpdhh;. mg;NghJ mth; jdJ cauj;ijAk;> jdJ epoypd; 
ePsj;ijAk; mse;J mJ 4 : 1 vd;w tpfpjj;jy; cs;sij mwpe;jhh;. 
gpd;G kuj;jpd; epfypd; ePsk; 15 mb vdpy;> kuj;jpd; cauk; vd;d?  
a. 15 mb   b. 30 mb    c. 60 mb 
d. 75 mb    e. tpil njhpatpy;iy  

 
20. A shop keeper marked the price of an article as 15% more on its cost 

price and than offered 15% reduction for the article, then he got  
a. Profit   b. Loss c. Neither Profit nor Loss  
d. Profit as well as Loss  e. Answer not known 
xU filf;fhuh; xU nghUspd; mlf;f tpiyapy; 15 rjtPjk; 
mjpfkhf;fp mjd; Fwpj;j tpiy Mf;Ffpwhh;. mjpy; 15 rjtPjk; 
js;Sgb je;J tpw;gid nra;fpwhh; vdpy; filf;fhuh; mile;jJ.  
a. yhgk;    
b. el;lk;   
c. yhgKk; ,y;iy el;lKk; ,y;iy  
d. yhgkhfTk; ,Uf;Fk; el;lkhfTk; ,Uf;Fk;  
e. tpil njhpatpy;iy  
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21. A hemispherical tank of radius 1.75 m is full of water. It is connected 
with a pipe which empties the tank at the rate of 7 liters per second. 
How much time will it take to empty the tank completely?  
a. 27 minutes   b. 26 minutes   c. 72 minutes   
d. 62 minutes   e. Answer not known 
Muk; 1.75 kP cs;s Xh; miuNfhs tbtj; njhl;b Kw;wpYk; ePuhy; 
epug;gg;gl;Ls;sJ. xu Fohapd; %yk; tpehbf;F 7 ypl;lh; tPjk; 
njhl;bapypUe;J ePh; ntspNaw;wg;gLkhdhy;> njhl;bia vt;tsT 
Neuj;jpy; KOtJkhf fhyp nra;ayhk;?  
a. 27 epkplq;fs;    b. 26 epkplq;fs;  c. 72 epkplq;fs;  
d. 62 epkplq;fs;    e. tpil njhpatpy;iy  

 
22. Find the LCM of (x4 – 1), (x2 – 2x + 1)  

a. (x2 + 1) )x + 1)    b. (x + 1) (x – 1)  
c. (x2 + 1) (x – 1)2    d. (x2 + 1) (x + 1) (x – 1)2  

e. Answer not known 
kP.ngh.k fhz;f.  
a. (x2 + 1) )x + 1)    b. (x + 1) (x – 1)   c. (x2 + 1) (x – 1)2 
d. (x2 + 1) (x + 1) (x – 1)2  e. tpil njhpatpy;iy  

 
23. Find H.C.F. of (x2y + xy2), (x2 + xy)  

a. x + y b. xy  c. x(x + y) d. x2 + y2  e. Answer not known 
(x2y + xy2), (x2 + xy) Mfpatw;wpd; kP.ngh.t. fhz;f.  
a. x + y b. xy  c. x(x + y) d. x2 + y2  e. tpil njhpatpy;iy  

 

24. Simplify: 1 3
5

2 4
  of 8

9
 

a. 1
6

4
  b. 

1
6

6
  c. 8

6
9

  d. 4
6

8
  e. Answer not known 

RUf;Ff: 1 3
5

2 4
  ,d; 8

9
 

a. 1
6

4
  b. 

1
6

6
  c. 8

6
9

  d. 4
6

8
  e. tpil njhpatpy;iy  

 

25. Simplify: 4 3 5 30 12 27

3 2 3 12 9 16


      

a. 
53

12
  b. 43

12
  c. 33

12
  d. 13

12
  e. Answer not known 

RUf;Ff: 
4 3 5 30 12 27

3 2 3 12 9 16


      

a. 53

12
  b. 43

12
  c. 33

12
  d. 13

12
  e. tpil njhpatpy;iy  
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AGRICULTURE & HORTICULTURE 

GS (18.04.2021) 
 

1. The value of a motor cycle 2years ago was `70,000. It depreciates at the 
rate of 4%p.a. Find its present value.  
a. 65312  b. 64312 c. 64512 d. 65412 e. Answer not known 
,U rf;fu thfdk; xd;wpd; tpiy 2 Mz;LfSf;F Kd; 70>000-Mf 
,Ue;jJ. mjd; kjpg;G Mz;L NjhWk; 4% tPjk; FiwfpwJ. mjd; 
jw;Nghija kjpg;igf; fhz;f.  
a. 65312  b. 64312 c. 64512 d. 65412 e. tpil njhpatpy;iy  

 
2. A sum of `46,000 was lent out at Simple Interest and the end of 1year 

and 9 months, the total amount was `52,440. Find the rate of interest per 
year. 
a. 5%  b. 6%  c. 7%  d. 8%  e. Answer not known 
mry; ì 46>000 MdJ 1 Mz;L 9 khj fhyj;jpw;Fg; gpwF jdptl;b %yk; 
nkhj;jj; njhifahf ì  52>440-Mf cah;e;jJ vdpy; tl;b tPjk; fhz;f. 
a. 5%  b. 6%  c. 7%  d. 8%  e. tpil njhpatpy;iy  

 

3. The cost of a machine is `18,000 and it depreciates at 16
2

3
% annually. Its 

value after 2 years will be 
a. `12,000 b. `12,500 c. `15,000 d. `16,500  e. Answer not known 

Xh; ,ae;jpuj;jpd; tpiy ` 18>000 mJ Mz;Lf;F 16
2

3
% tPjk; Nja;khdk; 

milfpwJ.  
a. `12,000 b. `12,500 c. `15,000 d. `16,500  e.  tpil njhpatpy;iy  

 
4. The curved surface area of a right circular cone of height 15cm and base 

diameter 16cm is  
a. 60  cm2  b. 68  cm2     c. 120  cm2 

  

d. 136  cm2  e. Answer not known   
15 nr.kP cauKk; 16 nr.kP tpl;lKk; nfhz;l xU Neh;tl;lf; $k;gpd; 
tisgug;G  
a. 60  nr.kP2  b. 68 nr.kP2   c. 120 nr.kP2 
 d. 136 nr.kP2   e. tpilnjhpatpy;iy  
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5. A machine bought at Rs.50, 000 falls in its value by 8% of its value every 
year. Find the value of the machine after 2years.  
a. `40,000  b. `43,220   c. `42,000  
d. ` 42,320  e. Answer not known 
& 50>000 kjpg;Gs;s xU ,ae;jpukhdJ mjd; tpiyapy; xt;nthU 
tUlKk; 8% FiwfpwJ vdpy; 2 tUlq;fSf;Fg;gpd; mjd; tpiy vd;d?  
a. `40,000  b. `43,220   c. `42,000  
d. ` 42,320  e. tpil njhpatpy;iy  

 
6. A competitive exam paper has 100 questions for which 1 mark will be 

awarded for each correct answer and 
1

2
 mark will be deducted for every 

wrong answer, 
1

4
mark will be deducted for non- answering. Find the 

total mark scored by a candidate who answered 88 questions of which 
61 are correct.  
a. 61 b. 44.5 c. 44.25  d. 54  e. Answer not known 
100 tpdhf;fs; nfhz;l xU Nghl;bj; Njh;tpy; rhpahd tpilaspf;Fk; 
xt;nthU tpdhtpw;Fk; 1 kjpg;ngz; toq;fg;gLfpwJ. jtwhd tpilf;F 
1

2  
kjpg;ngz; fopf;fg;gLfpwJ. NkYk; tpilaspf;fhj Nfs;tpf;F 

1

4  
kjpg;ngz; fopf;fg;gLfpwJ. xU Njh;th; 88 tpdhf;fSf;F 
tpilaspf;fpwhh;. mtw;Ws; 61 tpdhf;fSf;F rhpahd 
tpilaspj;jpUf;fpwhh; vdpy; mth; ngWk; kjpg;ngz; vt;tsT?  
a. 61 b. 44.5 c. 44.25  d. 54   e. tpil njhpatpy;iy  

 
7. A student can type 21page in 15 minutes. At the same rate, how long 

will it take the student to type 84 pages? 
a. 60 minutes   b. 50 minutes    c. 70 minutes   
d. 45 minutes   e. Answer not known 
xU khztdhy; 15 epkplq;fspy; 21 gf;fq;fisj; jl;lr;R nra;a KbAk;. 
,Nj Ntfj;jpy;> me;j khztDf;F 84 gf;fq;fs; jl;lr;R nra;a 
vt;tsT Neuk; MFk;?  
a. 60 epkplq;fs;  b. 50 epkplq;fs;  c. 70 epkplq;fs;  
d. 45 epkplq;fs;  e. tpil njhpatpy;iy  

 
8. The breadth of a rectangular field is 60% of its length. If the perimeter of 

the field is 800m, what is the area of the field? 
a. 18750 sq. m.  b. 37500 sq. m.    c. 40000 sq. m.  
d. 48000 sq. m. e. Answer not known 
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xU nrt;tf taypd; mfyk;> ePsj;jpd; 60% MFk;. mt;taypd; Rw;wsT 
800 kP vdpy; mt;taypd; gug;gsitf; fhz;. 
a. 18750 sq. m.  b. 37500 sq. m.    c. 40000 sq. m.  
d. 48000 sq. m. e. tpil njhpatpy;iy  

 

9. Find the G.C. D. of the following: 
5 3 4 2 3 2 235 ,49 ,14x y z x yx xy z  

a. 2 2 27x y z  b. 7xyz  c. 5 3 414x y z   d. 27x y z  e. Answer not known 
 
kP.ngh.t. (G.C.D) fhz;f. 5 3 4 2 3 2 235 ,49 ,14x y z x yx xy z  
a. 2 2 27x y z  b. 7xyz  c. 5 3 414x y z   d. 27x y z  e. tpil njhpatpy;iy  

 
10. 10% of 5 and 5% of 10 add upto  

a. 0.10   b. 0.25 c. 1.0  d. 2.5  e. Answer not known  
a5-d; 10% kw;Wk; 10-d; 5% Mfpatw;wpd; $Ljy;  
a. 0.10   b. 0.25 c. 1.0  d. 2.5  e. tpil njhpatpy;iy  

 
11. A can do a piece of work in 20 days and B can do it in 30 days.  How 

long will they take to do the work together? 
a. 15  b. 12  c. 20  d. 25  e. Answer not known 
A vd;gth; xU Ntiyia 20 ehl;fspYk; B vd;gth; mNj Ntiyia 30 
ehl;fspYk; nra;J Kbg;ghh;fs;. mt;tpUtUk; Nrh;e;J mt;Niyiar; 
nra;J Kbf;f vj;jid ehl;fs; MFk;?  
a. 15  b. 12  c. 20  d. 25  e. tpil njhpatpy;iy 

   
12. A can do a piece of work in 8 days and B can do the same piece of work 

in 12 days.  A and B together complete the same piece of work and get 
`200 as the combined wages.  B‟s share of the wages will be 
a. ` 75  b. ` 80 c. ` 85 d. ` 90 e. Answer not known 
xU Ntiyia A, 8 ehl;fspy; nra;J Kbg;ghh;. mNj Ntiyia Kbf;f 
B-f;F 12 ehl;fs; MFk;. me;j Ntiyia A kw;Wk; B ,UtUk; Nrh;e;J 
Kbj;J ì 200 ia xUq;fpize;j Cjpakhf ngw;why; mjpy; B-f;fhd 
Cjpak; 
a. ` 75  b. ` 80 c. ` 85 d. ` 90 e. tpil njhpatpy;iy 

    
13. The highest number which divides the product of any three consecutive 

even natural number is 
a. 2  b. 4  c. 8  d. 16  e. Answer not known 
mLj;jLj;j %d;W ,ul;il ,ay; vz;fspd; ngUf;fiy tFf;Fk; 
kpfg;nghpa vz;  
a. 2  b. 4  c. 8  d. 16  e. tpil njhpatpy;iy  
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14. When two dice are rolled the number of outcomes of getting the sum of 

the faces equal to 8 is? 
a. 4  b. 5  c. 6  d. 7  e.  Answer not known 
,U gfilfs; cUl;lg;gLk;NghJ mtw;wpd; Kf kjpg;Gfspd; $Ljy; 8-
Mf ,Ug;gjw;fhd tha;g;Gfspd; vz;zpf;if  
a. 4  b. 5  c. 6  d. 7  e.  tpilnjhpatpy;iy  

 
15. The probability a red marble selected at a random from a Jar containing 

p red, q blue and “r” green marble is  

a. 
q

p q r 
  b. 

p

p q r 
  c. 

p q

p q r



 
  d. 

p r

p q r



 
 

e. Answer not known 
p - rptg;G> q- ePyk;> r- gr;ir epwf; $ohq;fw;fs; cs;s xU FLitapy; 
,Ue;J xU rptg;Gepw $ohq;fy; fpilg;gjw;fhd epfo;jfthdJ  

a. 
q

p q r 
  b. 

p

p q r 
  c. 

p q

p q r



 
  d. 

p r

p q r



 
 

e. tpil njhpatpy;iy  
 

16. The largest four digit number which when divided by 4, 7 and 13 leaves 
a remainder 3 in each case is 
a. 9138 b. 9318 c. 9381 d. 9831 e. Answer not known 
4, 7 kw;Wk; 13 Mfpa xt;nthU vz;zhYk; tFgLk; nghOJ kPjp 3-I 
juf;$ba kpfg;nghpa ehd;F ,yf;f vz; 
a. 9138 b. 9318 c. 9381 d. 9831 e. tpil njhpatpy;iy  

 
17. Find the LCM of pair of the following polynomials  x4  -27 a3 x, (x - 3a)2 , 

whose  GCD is (x – 3a) 
a. x(x– 3a)2  (x2 -3ax+9a2)  b. x(x+ 3a)2  (x2 +3ax+9a2) 
c. x(x- 3a)2   (x2 +3ax-9a2)  d. x(x -3a)2   (x2 +3ax+9a2) 

e. Answer not known 
x4  -27 a3 x, (x - 3a)2 ,tw;wpd; kP.ngh.t. (x – 3a) vdpy; kP.ngh.k.  
a. x(x– 3a)2  (x2 -3ax+9a2)  b. x(x+ 3a)2  (x2 +3ax+9a2) 
c. x(x- 3a)2   (x2 +3ax-9a2)  d. x(x -3a)2   (x2 +3ax+9a2) 
e. tpil njhpatpy;iy  

 
18. If z = 52 and ACT = 48, then BAT will be equal to 

a. 39  b. 41  c. 44  d. 46  e. Answer not known 
z = 52 kw;Wk; ACT = 48 vdpy; BAT = ?  
a. 39  b. 41  c. 44  d. 46  e. tpil njhpatpy;iy  
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19. M5E$RB3AK7#9$UDIN4%FH2@8W.How many such consonants are 

there in the above sequence each of which is immediately followed by a 
number and immediately preceded by a vowel. 
a. One  b. Four c. Three d. Two e. Answer not known 
M5E$RB3AK7#9$UDIN4%FH2@8W 
NkNy cs;s njhlhpy; cs;s cWg;Gfspy;> me;j cWg;G;F Kd;dhy; 
xU capnuOj;Jk; me;j cWg;igj; njhlh;e;J xU vz;Zk; tuf;$ba 
nka;naOj;Jf;fspd; vz;zpf;ifia fhz;f.  
a. xd;W  b. ehd;F c. %d;W   d. ,uz;L  e. tpil 
njhpatpy;iy 

 
20. If Karkuzhali earns ` 1,800 in 15 days, then she earns  3,000 in________ 

a. 25  b. 20  c. 15  d. 10  e. Answer not known 
15 ehl;fspy; fhh;Foyp ì 1>800-I tUkhdkhfg; ngWfpwhh;. vdpy; ì 3>000-
I __________ ehl;fspy; tUkhdkhfg; ngWthh;.  
a. 25  b. 20  c. 15  d. 10  e. tpil njhpatpy;iy  

 
21. 10 lakh candidates write the TNPSC Exam this year.  If each exam centre 

is allotted with 1000 candidates.  How many exam centres would be 
needed? 
a. 100  b. 1000 c. 10000 d. 100000 e.  Answer not known 
10 ,yl;rk; Njh;th;fs; ,t;thz;L TNPSC Njh;T vOJfpd;wdh;. 
xt;nthU Njh;T ikaj;jpYk; 1000 Njh;th;fs; Njh;T vOjpdhy; 
vj;jidj; Njh;T ikaq;fs; Njit?  
a. 100  b. 1000 c. 10000 d. 100000 e.  tpil njhpatpy;iy  

 
22. 2, 4, 12, 48, 240, ……... 

a. 960  b. 1440 c. 1080 d. 1920 e. Answer not known 
2, 4, 12, 48, 240, ……... 
a. 960  b. 1440 c. 1080 d. 1920 e. tpil njhpatpy;iy  

 
23. In a theatre, there are 20 seats in the front row and 30 rows were 

allotted. Each successive row contains two additional seats then its front 
row. How many seats are there in the last row? 
a. 58 seats b. 78 seats  c. 98 seats  d. 108 seats e. Answer not known 
xU rpdpkh muq;fpd; Kjy; thpirapy; 20 ,Uf;iffSk; nkhj;j 30 
thpirfSk; cs;sd. mLj;jLj;j xt;nthU thpirapYk; mjw;F 
Ke;ija thpiria tpl ,uz;L ,Uf;iffs; $Ljyhf cs;sd. filrp 
thpirapy; vj;jid ,Uf;iffs; ,Uf;Fk;?  
a. 58 thpirfs;    b. 78 thpirfs;   c. 98 thpirfs;  
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d. 108 thpirfs;   e. tpil njhpatpy;iy   
24. Find the difference between Simple Interest and Compound Interest for 

a sum of `8,000 lent at 10% per annum in 2years. 
a. ` 60  b. ` 70 c. ` 80 d. ` 90 e. Answer not known 
ì 8,000 -f;F 10% tl;b tPjk; vdpy; ,uz;L Mz;Lfspy; fpilf;Fk; $l;L 
tl;bf;Fk; jdp tl;bf;Fk; cs;s tpj;jpahrj;ijf; fhz;f.  
a. ` 60  b. ` 70 c. ` 80 d. ` 90 e. tpil njhpatpy;iy  

 

25. If 

3 4
,

5 7

a b

b c
 

 then a: b: c is  
a. 12: 20: 21  b. 12: 20: 35  c. 15: 28: 35  d. 28: 20: 12 
e. Answer not known 

3 4
,

5 7

a b

b c
 

 
vdpy; a: b: c   vd;gJ  

a. 12: 20: 21  b. 12: 20: 35  c. 15: 28: 35  d. 28: 20: 12 
e.  tpil njhpatpy;iy  

 

 

ASSISTANT AGRICULTURAL OFFICER 
(17.04.2021)  

 
1. On a palm tree of height 32 cubit, a chameleon tried to reach the top 

of the tree. If it climbed one hand span on it but slipped four fingers 
on one day. How many days will it take to reach the top of the tree? 
a. 96 days  b. 69 days  c. 94 days  d. 64 days 
e. Answer not known 
32 Kok; cila gidkuj;jpy;> gr;Nrhe;jp xd;W ku cr;rpia mila 
Kay;fpwJ. xU ehisf;F xU rhz; Vwp ehY tpuy; fPNo ,wq;FfpwJ 
vdpy; ku cr;rpia mila gr;Nrhe;jp vj;jid ehs;fis 
vLj;Jf;nfhs;Sk;? 
a. 96 ehs;fs; b. 69 ehs;fs; c. 94 ehs;fs; d. 64 ehs;fs; 
d. tpil njhpatpy;iy 
 

2. P, Q, R, S and T are sitting in a circle facing the centre. If R is 
immediate left of T and P is between S and T, who is to the 
immediate left of R? 
a. P  b. Q  c. S  d. T  d. Answer not known 
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xU tl;lj;jpy;> tl;l ikaj;ij Nehf;fp P, Q, R, S kw;Wk; T MfpNahh; 
mkh;e;Js;sdh;. T vd;gtUf;F ,lg;Gwk; mLj;jg;gbahf R vd;gtUk;> 
S kw;Wk; T Mfpa ,UtUf;Fk; ,ilNa P vd;gtUk; 
mkh;e;jpUg;ghh;fs; vdpy;> R vd;gtUf;F ,lg;Gwk; mLj;jg;gbahf 
mkh;e;Js;s egh; ahh;? 
a. P  b. Q  c. S  d. T  e. tpil njhpatpy;iy
  

3. The value of a motor cycle 2 years ago was ` 60,000. It depreciates at 
the rate of 5% per annum. Find its present value. 
a. ` 54,000  b. ` 54,050  c. ` 54,500  d. ` 54,150 
e. Answer not known 
,U rf;fu thfdk; xd;wpd; tpiy 2 Mz;LfSf;F Kd; ` 60>000 Mf 
,Ue;jJ. mjd; kjpg;G Mz;LNjhWk; 5% tPjk; FiwfpwJ. mjd; 
jw;Nghija kjpg;igf; fhz;f. 
a. ` 54,000  b. ` 54,050  c. ` 54,500  d. ` 54,150 
e. tpil njhpatpy;iy 
 

4. A and B invest in a business in the ratio 3 : 2. If 5% of the total profit 
goes to charity and A‟s share is ` 855, then the total profit is 
a. ` 1,425  b. ` 1,576  c. ` 1,500  d. ` 1,537.50 
e. Answer not known 
A kw;Wk; B ,Uth; xU njhopy; njhlq;f 3 : 2 vd;w tpfpjj;jpy; 
KjyPL nra;Js;sdh;. nkhj;j ,yhgj;jpy; 5% njhz;L epWtdj;jpw;F 
toq;fg;gLfpwJ. kw;Wk; A d; gq;F ` 855 vdpy; nkhj;j ,yhgk; 
vd;d? 
a. ` 1,425  b. ` 1,576  c. ` 1,500  d. ` 1,537.50 
e. tpil njhpatpy;iy 
 

5. The HCF of two numbers is 2 and their LCM is 154. If the difference 
between the number is 8 then the sum is 
a. 26  b. 36  c. 46  d. 56  e. Answer not known 
,U vz;fspd; kP.ng.t. 2 kw;Wk; mtw;wpd; kP.rp.k. 154 mt;tpU 
vz;fSf;fpilNa cs;s NtWghL 8 vdpy; mtw;wpd; $Ljy; 
a. 26  b. 36  c. 46  d. 56  e. tpil njhpatpy;iy 
 

6. Which of the following cannot be the HCF of two numbers whose 
LCM is 120? 
a. 60  b. 40  c. 80  d. 30  e. Answer not known 
120-I kP.rp.k. – Mff; nfhz;l ,U vz;fSf;Fg; gpd;tUk; ve;j 
vz;zhdJ mtw;wpd; kP.ng.t.-Mf ,Uf;f ,ayhJ. 
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a. 60  b. 40  c. 80  d. 30  e. tpil njhpatpy;iy 
 

7. By selling a bicycle for ` 4,275, a shopkeeper loses 5% for how much 
should he sell it to have a profit of 5%? 
a. ` 4, 625  b. ` 4,725  c. ` 4,825  d. ` 4,925 
e. Answer not known 
kpjptz;b xd;iw xU filf;fhuh; ` 4>275 f;F tpw;gjhy; mtUf;F 
5% el;lk; Vw;gLfpwJ vdpy; 5% yhgk; ngw Ntz;Lnkdpy; mth; 
kpjptz;bia vd;d tpiyf;F tpw;f Ntz;Lk;? 
a. ` 4, 625  b. ` 4,725  c. ` 4,825  d. ` 4,925 
e. tpil njhpatpy;iy 
 

8. A number when decreased by 20% gives 80. Find the number. 
a. 40  b. 60  c. 100  d. 120 e. Answer not known 
xU vz;iz 20% Fiwj;jhy; 80 fpilf;fpwJ vdpy; me;j vz;izf; 
fhz;f. 
a. 40  b. 60  c. 100  d. 120 e. tpil njhpatpy;iy 
 

9. If the median of a, 2a, 4a, 6a, 9a is 8. Then find the value of „a‟ 
a. 8  b. 6  c. 2  d. 10  e. Answer not known 
a, 2a, 4a, 6a, 9a ,d; ,ilepiy 8 vd;why; ‘a’ ,d; ,ilepiyasT 
a. 8  b. 6  c. 2  d. 10  e. tpil njhpatpy;iy 
 

10. The median of the data 24, 29, 34, 38, 35 and 30 is 
a. 29  b. 30  c. 34  d. 32  e. Answer not known 
juTfs; 24> 29> 34> 38> 35 kw;Wk; 30 ,d; ,ilepiyasT 
a. 29  b. 30  c. 34  d. 32  e. tpil njhpatpy;iy 

 
11. For which set of numbers do the mean, median and mode all have 

the same value? 
a. 2, 2, 2, 4  b. 1, 3, 3, 3, 5 c. 1, 1, 2, 5, 6 d. 1, 1, 2, 1, 5 
e. Answer not known 
gpd;tUk; vd; njhFjpfspy; ruhrhp> ,ilepiy kw;Wk; KfL xNu 
kjpg;ghf mikAk; njhFjp vJ? 
a. 2, 2, 2, 4  b. 1, 3, 3, 3, 5 c. 1, 1, 2, 5, 6 d. 1, 1, 2, 1, 5 
e. tpil njhpatpy;iy 
 

12. Let m be the mid point and b be the upper limit of a class in a 
continuous frequency distribution. The lower limit of the class is 
a. 2m-b  b. 2m+b  c. m-b d. m-2b 
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e. Answer not known 
ikag;Gs;sp m, njhlh; epfo;ntz; gutypd; xU gphptpd; Nky; vy;iy 
„b‟ vdpy; mjd; fPo; vy;iy 
a. 2m-b b. 2m+b c. m-b d. m-2b e. tpil njhpatpy;iy 
 

13. The value of (13 + 23 + 33 + …. + 153) – (1 + 2 + 3 + …..+ 15) is 
a. (13 + 23 + 33 + …. + 153) – (1 + 2 + 3 + …..+ 15) apd; kjpg;G vd;d? 
14400 b. 14200 c. 14280 d. 14520 e. tpil njhpatpy;iy 
14400  b. 14200  c. 14280  d. 14520 
e. Answer not known 
 

14. If 1 + 2 + 3 + …. +n   666 then find n. 
a. 37   b. 36   c. 38   d. 35 
e. Answer not known 
1 + 2 + 3 + …. +n   666 vdpy;> n ,d; kjpg;G fhz;f 
a. 37  b. 36  c. 38  d. 35  e. tpil njhpatpy;iy 
 

15. A metallic sphere of radius 16 cm is melted and recast into small 
spheres each of radius 2 cm. How many small spheres can be 
obtained? 
a. 412   b. 512  c. 521   d. 421 
e. Answer not known 
16 nr.kP MuKs;s Xh; cNyhfg;ge;J> cUf;fg;gl;L 2 nr.kP MuKs;s 
rpW ge;Jfshf;fg;gl;lhy; vj;jid ge;Jfs; fpilf;Fk;? 
a. 412  b. 512 c. 521  d. 421 e. tpil njhpatpy;iy 
 

16. A sphere, a cylinder and a cone are of the same radius, where as cone 
and cylinder are of same height. Find the ratio of their curved surface 
areas. 

a. 2 2 : 2 : 1  b. 2 : 1 : 2   c. 2 : 2 : 1   d. 2 2 : 1 : 2  

e. Answer not known 
xU Nfhsk;> cUis kw;Wk; $k;G Mfpatw;wpd; Muq;fs; rkk;. $k;G 
kw;Wk; cUisapd; cauq;fs; Muj;jpw;F rkk; vdpy;> mtw;wpd; 
tisgug;Gfspd; tpfpjk; fhz;f. 
a. 2 2 : 2 : 1  b. 2 : 1 : 2     c. 2 : 2 : 1   

d. 2 2 : 1 : 2  e. tpil njhpatpy;iy 
 

17. If 
5 8

yx
  then (x + 5):(y + 8) is equal to 

a. 3 : 5  b. 13 : 8  c. 8 : 5  d. 5 : 8 
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e. Answer not known 

5 8

yx


 
vdpy; (x + 5):(y + 8) f;F rkkhdJ. 

a. 3 : 5 b. 13 : 8 c. 8 : 5 d. 5 : 8  e. tpil njhpatpy;iy 

 
18. A mat of length 180 m is made by 15 women in 12 days. How long 

will it take for 32 women to make a mat of length 512m? 
a. 13   b. 14   c. 15   d. 16 
e. Answer not known 
180 kP ePsKs;s xU ghapid 15 ngz;fs; 12 ehl;fspy; nra;jdh;. 
512 kP ePsKs;s xU ghapid 32 ngz;fs; nra;a vj;jid ehl;fs; 
MFk;? 
a. 13  b. 14  c. 15  d. 16  e. tpil njhpatpy;iy 
 

19. The product of 2 two digit numbers is 300 and their HCF is 5 what 
are the numbers? 
a. 15, 20  b. 10, 20  c. 15, 25  d. 10, 15 
e. Answer not known 
,uz;L <hpyf;f vz;fspd; ngUf;fw;gyd; 300 kw;Wk; mtw;wpd; kP.ng.t. 
5 vdpy;> mt;ntz;fs; ahit? 
a. 15, 20 b. 10, 20 c. 15, 25  d. 10, 15 e. tpil 
njhpatpy;iy 
 

20. The number of number-pairs lying between 40 and 100 with their 
H.C.F. is 15 is 
a. 3   b. 4   c. 5   d. 6 
e. Answer not known 
40 Kjy; 100 tiuAs;s vz;fspy; vj;jid vz; N[hbfspd; kP.ng.t 
15 Mf ,Uf;Fk;. 
a. 3  b. 4  c. 5  d. 6  e. tpil njhpatpy;iy 
 

21. The value of 
8.94 8.94 8.94 3.56 3.56 3.56

8.94 8.94 8.94 3.56 3.56 3.56

    

    
 is 

a. 0.538  b. 5.38  c. 0.0538  d. 53.8 
e. Answer not known 
8.94 8.94 8.94 3.56 3.56 3.56

8.94 8.94 8.94 3.56 3.56 3.56

    

    
d; kjpg;G vd;d? 

a. 0.538  b. 5.38  c. 0.0538  d. 53.8 
e. tpil njhpatpy;iy 
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22. The value of 
4 3 5 30

3 2 3 12

      
      
    

 is 

a. 
3

1
6

   b. 
13

6
   c. 

4

3
   d. 

4

3


 

e. Answer not known 
4 3 5 30

3 2 3 12

      
      
    

d; kjpg;G 

a. 
3

1
6

   b. 
13

6
   c. 

4

3
   d. 

4

3



 
e. tpil njhpatpy;iy 
 

23. The number of times an observation occurs in the given data is called 
a. Tally marks  b. Data c. Frequency d. Numbers 
e. Answer not known 
nfhLf;fg;gl;lj; juTfspy; xU kjpg;G vj;jid Kiw tUfpwJ vdf; 
$WtJ mk;kjpg;gpd;  
a. Neh;f;Nfhl;Lf; Fwpfs;   b. juT  
c. epfo;ntz;    d. vz;fs;  e. tpil njhpatpy;iy  
 

24. Two numbers are in the ratio 5 : 7. If the sum of these numbers is 108, 
then the larger of these two numbers is 
a. 63   b. 49   c. 35   d. 42 
e. Answer not known 
,U vz;fspd; tpfpjk; 5 : 7 mt;ntz;fspd; $Ljy; 108 vdpy; 
mt;tpU vz;fspy; nghpa vz; 
a. 63  b. 49  c. 35  d. 42  e. tpil njhpatpy;iy  
 

25. The line graph shows the annual percent profit earned by a company 
during the period 1995-2000. Study the line graph and answer the 
following: 
If the expenditure in 2000 is 25% more than the expenditure in 1997, 
then the income in 1997 is what per cent less than the income in 2000? 
 

% Profit 
Income - Expenditure

100
Expenditure

 
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a. 22.5%  b. 25% c. 27.5% d. 31.25% e. Answer not known  

 
nfhLf;fg;gl;l Nfhl;L tbt tiuglk; xU epWtdj;jpd; 1995 – 2000 
k; Mz;L ,yhg rjtPjj;ij Fwpg;gjhFk;. ,j;jftiyf; nfhz;L 2000 
Mk; Mz;bd; nrytpdk; 1997 Mk; Mz;bd; nrytPdj;ij tpl 25% 
mjpfk; vdpy; 2000 Mz;ilf; fhl;bYk; 1997 Mk; Mz;bd; tUkhd 
rjtPjk; vt;tsT FiwT?  

% ,yhgk;  100
tUkhdk; - nrytpdk;

nrytpdk;
  

 

 
a. 22.5%  b. 25% c. 27.5% d. 31.25% e.  tpil njhpatpy;iy  

 
 

 

 


